B
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What is an attribute in a relation ?

(A) A database column
(B) A database row

(C) A database constraint
(D) A database table

(E) Not attempted

If the cost price is 96% of the selling
price, then what is the Profit percent ?
(A) 4.17% (B) 5.17%

(C) 6.17% (D) 3.17%

(E) Not attempted

Haryana Govt. had declared which
among the following year as ‘The Year
of Industry and Employment’ ?
(A) 2012

(B) 2013

(C) 2011

(D) 2014

(E) Not attempted

The outermost solid cover or shell of
the earth is known as

(A) Sima

(B) Sial

(C) Igneous

(D) Earth crust
(E) Not attempted

Anil introduce Rohit as the son of the
only brother of his father’s wife. How
is Rohit related to Anil ?

(B) Uncle
(D) Son

(A) Brother
(C) Cousin
(E) Not attempted

]

CG - CcG23

1. fewm # Afer #n 2 ¢
(A) T ST Hierg
(B) Th S T
(C) Th ST HiFede
(D) Th T ¢ae
(E) 3RItEa

2. I F Y Tk e 1 96% 2, 1

1y faSa | R 7 a,jy,(ﬁ
M) 4.17% (B) 5.17% ’F

(C) 6.17% (D) 3.17% '

(E) 31T a5 U

3. R TR X Fefifaa § & f ad 3l
< e 3R ASTR 1 i fhT B 7

(A) 2012
((BY'2013
(C) 2011

(D) 2014
(E) Imamfed

4. vt i 9E9 SR W W I1 He
____ wgami g |
(A) Fm
(B) Tomrmet
(€) T
LAD) et 1
(E) TR

5. o Ufga i wh=w 3o frar 6 o=h
¥ T WE ¥ H TN war 2
e arfre A form wbr wafa R 2

(A) ¥ (B) ==
LAC) S o (D) T

(E) 3t
g Op-0
L}Wf
G Scanned with OKEN Scanner
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The water accumulated under the
ground surface in this manner

(A) Well (B) Canal

(C) Ground water (D) Spring

(E) Not attempted

With the help of which of the

following international organizations,

Haryana Community Forestry Project

was started ?

(A) World Bank

(B) European Commission

(C) South Asian Association for
Regional Cooperation (SAARC)

(D) None of these

(0] 34 [=]
Lot a3
(E) Not attempted e

[E]:%2

Which Article in the Indian Constitution
is related to the Equal Justice and Free
Legal Aid ?

(A) Article 39A
(C) Article 39D

(E) Not attempted

(B) Article 39C
(D) Article 39B

Full form of RKVY is

(A) Rashtriya Krishi Vikas Yojana
(B) Rajya Krishi Vikas Yojana

(C) Rajya Kendra Vikas Yojana
(D) None of these

(E) Not attempted

Which function is used to free up
memory allocated by malloc(), calloc()

or realloc() ?

(A) clear()

(C) free()

(E) Not attempted

(B) reset()
(D) deallocate()

CG - CG23

6. 3 w0 ¥ it % AR F A 9@ whHOA

Bl 8
(A) FA (B) &

YR LES (D) f&m
(E)

7. Prefifea § & fr s gmed i
TEEa & BT et e aREe
3R B 7
A) fova =
(B) A=A ST
w)m@mmﬁtﬁtﬂm

HIFATRIA (SAARC)
(D) 38 ¥ 1S T
(E) TSt

8. W WIUM & HH-W1 =08 <A™
% THM AR 3R gra fafes wgmar §
Tefa 8 7
L&) 3TeBE 39A  (B) 3= 39C
(C) =G 39D (D) =G 39B
(E) ST9TRIa

9. RKVY & fowm &9 8
M) T Y foreprar s

(B) T=U iy forera s

(C) T g, Taeera A

(D) ¥ @ HIg T

(E) STsrnfé

w3 5]
Rastiadd

(o) e

.......

10. malloc(), calloc() AT realloc() GRI

arEfed A @l o W & fore fem
G T I fos S @ 7

(A) clear() B) reset()

(C) free() (D) deallocate()
(E) 3rsrnfea

B
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12.

13.

14.

15.
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RIDF was established in

(A) 1995 - 1996 (B) 1992 - 1996
(C) 1993 -1995 (D) 1992 - 1993
(E) Not attempted

Which of the following is used to
manipulate data from a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)
(D) None of the above

(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.

~a

(B) 356
(D) 254

b
Ll
T fd

Nyl

(A) 252
(C) 201
(E) Not attempted

Which Article in the Indian Constitution
is related to the Abolition of
Untouchability ?

(A) Article 117

(B) Article 18

(C) Article 121

(D) Article 17

(E) Not attempted

was the longest serving
Governor of Haryana.

(A) Birendra Narayan Chakraborty
(B) Ranjit Singh Narula
(©) Jaisukh Lal Hathi
(D) Dharma Vira
(E) Not attempted

11. RIDF ¥ wonrfoa g2 |
() 1995 - 1996 (B) 1992

v 1993 - 1995 (D) 1992
(E) TSI

_ 1996
~ 1993

12. mﬁmﬁﬁmmwﬁ
ga@rﬁsgogamaasmmm% ?
K e Afgerer St (DML)
(B) e T e (SQL)
(C) 321 2fefiym s (DDL)

(D) I | [+ T8l
14 y
(B) STEméa {5 43,'—,’; i ;,g,/;}:g
’ /
13. 450 &1 28% + 280 I 45% <1 HTE T
F1 | Vo6 #1176
L(A) 252 (B) 356
(C) 201 (D) 254
(E)

14, T GREYF H HH-T1 FTEOG
Sreqstar % 3o @ TEfua @ ?
(A) =g 117
(B) <08 18
(C) 3T=ag 121
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17.

18,

19,
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Full foml of NAIS is

A) Nati
A ol Argument Insurance

(D) None of thege
(E) Not attempteq

Pointing to a photograph a man said,
“I'have no brother or gigter but that
man'’s father ig my father’s son”.
Whose photograph was it 4

(A) His son’s

(B) His father’s

(C) His own

(D) None of these

(E) Not attempted

Transformation of Aspirational Districts
Programme was announced by

(A) Atal Pension Yojana

(B) Pradhan Mantri Yojana
(C) NITI Aayog

(D) None of these

(E) Not attempted

What is a stream in C Program : ?

(A) A way of handling input/output
operations in & prograr

(B) A type of loop used in decision-
making structure®

(C) A type of function us
manipulate strings

(D) A type of data Str¢
store variables

(E) Not attempted

ed to

ture used to

16.

18.

19.

-5-
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NAIS &1 foR &9 2
(A) AT AT YT TN

(B AT el e WhiM

() IeFe refiiey STy |d
(D) T | W3 &
(E) Twartad

w firm 1 37 $fm W g, T AR
Y T, “HU PIS WS A1 7 T8 8 g
a%%ﬁmﬁiﬁm%gﬁl” o
frme 2 7

(A) 37 T 1
(B) 37 faam =1
(C) ITH! TT FH
(D) 38 & HId TE
(E) 3rwanfaa

amariaf Firen Frima %1 T, I8
FEFE g uifta e mm)

(A) 37T GIH i
(B) TUTAHET TS

LAO) Hifg smm

(D) 9 & Hig TE
(E) 3wanféa

CYTH d W T8 7

(A) T ST # $YE/ A HAOH Ht
FHIEH H1 39

(B) Tavfa o washt = & ST gy
S AT Th YhR I o9

() f&gm =t uftard T % fore 3
T S 9T T YRR H1 w1

LAD) T THR T ST HTHT Forah swiy

R qUE ¥ R S 2
(E) 3Tvida
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1993 — 94 ¥ 1997 — o8 # Tl ferfe

20. What was the percentage increase 20.
in the foreign exchange reserves in ser o ufavd sga = oft ?
1997 — 98 over 1993 - 94 ?
IGN EXCHANGE RESERVES OF A
muégzn n’?gmg&‘ﬁg:%g? OFA - FORECOUNTRY(IN MILLION US $)
4000 ‘..
3000

6000
5000
4000
3000
2000
1000

0

1991-92 1992.93 1993-94 1994-95 1995-96 1996-97 1997-98 1998-99

(B) 200
(D) 100

(&) 150
(C) 620
(E) Not attempted

21. Which of the following is used to
define the structure of a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)

(D) None of the above

45
S

¥
X
[=

(E) Not attempted

22. Full form of IMRB is
(A) Indian Market Rural Business

(B) International Market Research

Bureau
(C) Indian Market Research Bureau
(D) None of these
(E) Not attempted

997-98 1998-99
Kb

1991-92 1992-93 1993-94 1994-95 1995-96 199697 1
agpr——

(B) 200 5;“"
 p) 100 “253-

(A) 150
B (C) 620

EE ks L)

wEvilEl (E)m
21. e ) G ) aReniE 0 % Y
frer 3 § Rege Iwm o ST @ 7
(a) 31 AfFel e (DML)
8] TFEs F=l o= (SQL)
- @) 31 Sfhfrem o9 (DDL)
(D)aﬁaaﬁﬁaﬁéré‘f
(E) JrSmd

22. IMRB 1 fa&R &9 2
(A) 3feTm AThe T foemm
(B) 3eva ke T s
AC) ¥ e T =g
(D) T @ IS T
(E) 3TRa
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23. This person becq
be appointeq g Me the first Indian to

Punjab High Couthe 1* Chief Justice of

: Ttin 1913
(A) Sir Shadijg

(B) Dr. Saryp, Singh

(C) Chaudh,—;u-y Bansila]
(D) Sir Choty Ram

(E) Not attempteq

24. National Agricultural Co-operative

Marketing Federatiopn (NAFED
established on

v (A) 27 October 1985
(B) 2°¢ September 1958
(C) 2" October 1983
(D) 2™ October 1958
(E) Not attempted

) was

=

iy
7

&
=

25. Who was the founder of the Shunga

Dynasty ?

(A) Bimbisara (B) Agnimitra
(C) Pushyamitra (D) Ajathashatru
(E) Not attempted

26. A cyclist covers a distance of 750 m

in 2 min. 30 sec., what is the Speed
in km/hr of the cyclist ?

(4) 12km/hr  (B) 17 km/hr

(C) 18 km/hr (D) 13 km/hr

(E) Not attempted

27. Which of the following mode's is used
for opening a file for appending ?

(A) ‘r’ (B) ‘a’

©) % (D) W’

[E) Not attempted

CG - CG23

23. 39 &Ifd P 1913 & Yo 3= A F
qeell R &1 =iy % =g # e
fomen N

(AK) T AT
(B) &i. &y fig
(C) =adt s

gﬁ?x (D) H Bl W
BHE () sty

24. T $N vgdrt fouom HeteH
(NAFED) = TTfe femam AT

{8 2 3R 1985
(B) 2 faas 1958
(C) 2 TS 1983

\_IB] 2 IR 1958
(E) 3T9mya

25. [T 99 T GEAGH i oA 7
(A) Tofemm (B) A==

AC) THIfE (D) ISTawg
(E) 3r9nfea

26. T FI$hel FaR Th 750 m Y gt
2 fire 30 The # o = WA 2, TEHS

TR A T km/hr By 7 35 XY
sp =

(A) 12 km/hr (B) 17 km/hr

tAC) 18 km/hr (D) 13 km/hr
(E) 3T

27. g1 % T A Frew G ¥ forw
W ¥ forw Wig w1 Iw R S R 2
A v “(B) @
€) % (D) W’
(E) 3TsRnfda
-7- B
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29.

30.

31.

32.
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Which type of join returns only the
rows that have matching values in
both table ? :

\
(B] Left join

(D) Right join

(A) Outer join
(C) Inner join
(E) Not attempted

Full form of MUDRA is

(A) Micro Units and Development
Refinance Agency Ltd.

(B) Micro Units and Development
Reference Agency

(C) Mantri Union Development
Refinance Agency Ltd.

(D) Mantri Union Development
Reference Agency

(E) Not attempted

Which planet is known as the “Watery
Planet” ?

(A) Earth

(C) Jupiter

(E) Not attempted

(B) Mars
(D) Mercury

E‘.‘Tﬂu""".':

oy
=ity

Which of the following pairs is EJ‘I?E]

correctly matched ?

(A) National Dairy Research Institute :
Manesar

(B) YMCA University of Science and
Technology : Faridabad

(C) Lingaya’s University : Hisar

(D) National Brain Research Centre :
Hisar

(E) Not attempted

Jayer lies below the crust.

(B) Rocks

A) Core€
&) (D) None of these

(C) Mantle
(E) Not attempted

‘/‘v._

cG - CG23
28, Fod SR F gEr e I G
o T 2 Fos QT At | e
T & 7 ]
' (@A) TEQ ST (B) TS
(C) iR Sigt (D) qrAl e
(E) TR
20. MUDRA %1 fora &4 &
(AA) TSR ghied T SaeHe e
! fafes
(C)ﬁsﬁ?{\hm%ﬁmﬁzﬁwmqﬁﬁﬁ
fofiee
@z (D) Tt g SaeTe YR TSl
BB (g srsEféE
30. Trd 78 &I el 8" HFEA & 7
(&) gt (B) HTeA
(C) Tewufa (D) g4
(E) TSR

31, fifaRes § 3 S9-T w @@ R 7
X (A) T SR STTHUH TAH : W

\_BY aréurie Faiif 3w Ty ve
TS : BIGETE

() fommn gfvafdfe : faw
X (D) TS wieTsh HFHUN Fg : fagn

(E) 3T
32, T R F i A 2
(A) (B) ¥gM
LAC) e (D) T q ¢ 74
(E)
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33. Which Artjq) ein
is related tq the the Indian Constitution

Village Panchayat;g:‘nizﬁltion of the
(A) Article 3q
(C) Article q;  B) Article 45

(E) Not attempteq (D) Article 40

Which lib fiy
34. . fary fCtion is used f
string concatenation inCp aomr ?
rogr

(A) strcpy() (B) strien)
(C) strrev() \“('D)/Strcat()
(E) Not attempteq

35. Ifa:b=5:9andb_

ﬁndatb:c_ 'c=4:7,then
(A) 36:20: 63
(B) 63:20: 36
(C) 20: 63 : 36 a@g‘f{,’@:
(D) 20: 36 : 63 e

(E) Not attempted

36. Recently, Jahanara Bagh Stadium in
Jhajjar district of Haryana has been
renamed as
(A) Hemchandra Vikramaditya
Stadium

(B) Narendra Modi Stadium

(C) Maharishi Dayanand Saraswati
Stadium

(D) Rao Tula Ram Stadium
(E) Not attempted

37. The regulated and controlled distribution

of essential goods among people means

(A) National Institute of Agricultural
M 'n . .

(B) s(,fﬁé?;f /g\griclﬂtural Credit in India

(C) Public Distribution System

(D) National Cooperative
Development Corporation

) Not attempted
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cG - CG23

33. Wmmmqﬁq_mwm
T 5 T B s 2 7

T () RT3 (B) IR 45
W (0) 3R 41 oy e 40
(E) ITrtera

34. Cc UM ¥ @1 sEdiyw ¥ forg fFA
AESHI GH T Iu o ST @ 7
(A) strepy() (B) strlen()
(C) strrev() (D) strcat()

(E) 3T5mide
35. A a:b=5:93Mb:c=4:7,@
a:b:cI@HR | .

(A) 36:20: 63 e
(B) 63:20: 36 """G/’éj

Qo-‘g
(C) 20:63: 36
\_1B) 20:36:63
(E) 3R

36. B & H, BN % TR e & AN
1T Rfeaq &1 9 Feee
fepam T )
4] Rereiz, ferspaiers ©feam

(B) Wz urdt =ieam

(C) "eRfY garie swadt Rifsam
(D) T g T Rfeam

(E) TSR

ANt § 3avEe aegat & e ok
Frata ferawor = forw S ®

(A) TS Y fqavE qeam

(B) WRA H HfY 9 &id
b@@fwﬁaﬁmﬁmmm

(D) U T farspm shiaiem
(E) I

37.
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38.

39.

40.

41.

42.
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“Mountbatten Plan” regarding the
partition of India was officially declared
on

(A) 10 June 1947

(B) 03 July 1947

(C) 03 June 1947 oEno
R
(D) 04 June 1947 i

(E) Not attempted

Which of the following was the theme
State of Haryana’s famous Surajkund
International Crafts Mela, 2022 ?

(A) Punjab

(B) Jammu and Kashmir

(C) Himachal Pradesh

(D) Uttarakhand

(E) Not attempted

A deposition of sand which results in
a long, narrow embankment in the
sea near the coast is called

(B) Latitude

(D) Sand bar

(A) Lagoon
(C) Beach
(E) Not attempted

Complete the following Analogy.
Cardiology: Heart:: Mycology :

(A) Shells (B) Skull

(C) Fungi (D) Diseases
(E) Not attempted

The two general categories of crop
insurance are called
(A) Crop-price insurance and crop
insurance
(B) Crop price insurance and crop
revenue insurance
(C) Crop-yield insurance and crop
revenue insurance
(D) None of the above

(E) Not attempted

38

39.

%)

cG - CG23

o A S v 35 R E
gt o, 1 anferis e _——
& T
(A) 10 [T 1947
(B) 03 IS 1947

03 S 1947
(D) 04 ST 1947

S AT FhTReE Hedl, 2022
el TS o 7

(&) T
AB) T I HHR

(c) Tt wem

(D) STEE

(E) 3rmanféd

40. Xd %1 S RS T WEY T @9,
T FFTRT Tg % ¢ WS I R,
Tl 8 |

(B) &S
(C) Tz W (D) el wgh
(E) 3R

41. Frafeiaa neaan gt Hifvg)
HIfSAITSI : Ted :: HIShIaAian :

(A) = (B) W
LAC) (D) T
(E)
42. O S H D A APt
FHErdt 2 |

(A) BEe T S 3T e <y

LBy waret qed dIT 3R e oy <o
(C) wEel Ieared T 3N ey Jroreg S
(D) Sulia o ¥/ HE T

(E) 3rsrfEa
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45.

46.

147.
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Serves as a connecting link

between Himalayas and Haryana
plains.

(A) Aravalli hills

(B) Morni hills

(C) Mewat hills

(D) Tipra hills s
(E) Not attempted ?a?‘?g

Pradhan Mantn Jan Dhan Yojana
was launched on 8
(A) 28™ August 2016

(B) 28" November 2014

(C) 28™ August 2014

(D) 28™ November 2016

(E) Not attempted

The largest planet of the solar system is
(A) Saturn (B) Uranus

(C) Jupiter (D) Neptune

(E) Not attempted

A, B and C started a business by
investing Rs. 1,20,000, Rs. 1,35,000
and Rs. 1,50,000 respectively. Find
the share of each out of an annual
profit of Rs. 56,700.

(A) 4:5:8

(B) 8:9:10

(C)5:6:3

(D) None of these

(E) Not attempted

First Mobile Court of Haryana was
set up at Mewat in

(A) 2003

(C) 2007

(E) Not attempted

(B) 2005
(D) 2000

o11e

CG - CG23

_ Tewem sk gfemm ¥ feri ¥

=9 T F2

(A) IR hi vEifEai
(_AB) TR H waifeai

(C) aTd st geTfeat

(D) feuw $i waifeai

(E) 3Tofda

YU S 97 AT 1 IARH
= foma )

(A) 28 3T 2016

(B) 28 qa 2014

\_{C) 28 3T 2014

(D) 28 & 2016

(E) TSRt

45, HoR ey & 94 991 18 2
(a) wF (B) &

LAC) Teefd (D) =
(E) 3o

A, B3R C 3 &. 1,20,000, ¥. 1,35,000
3%, 1,50,000 FA9: Faw = g
HRER J& foran| a1 w9 €. 56,700 &

43.

44,

46.

Teh dieh o9 & Yedish <l 3T T L |
(A) 4:5:8 a9 135 BT
ariAB) 8:9:10 'g‘j 10
Ed (C) 5:6:3 j@
(D) 370 & IS T
(E) 3T
47. W9 A o giEmn it ugelt
HreTge = wenfua 5 w |
(A) 2003 (B) 2005
\_{C) 2007 (D) 2000
(E) TSR
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48. If \/15= 3.88 then find the value of J:

49,

50‘

51.

52.
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(A) 5.60
(C) 1.2933
(E) Not attempted

(B) 7.80
(D) 13.97

If D = 4 and COVER = 63, then

BASIS =?
(A) 50 (B) 54 f ¥s -
(C) 55 (D) 49 3

(E) Not attempted

In which year, British Govemmeﬁt
politically divided Haryana into two
parts ?

(A) 1805 o
(B) 1810 ik
(C) 1815 S
(D) 1800

(E) Not attempted

Mixing of unwanted substance with
water is called

(A) Sound pollution

' (B) Water pollution
" (C) Nuclear pollution

(D) Soil pollution
(E) Not attempted

When did Mauryan Empire begin ?

() 323 BC
(B) 322 BC

BC A&
() 289 i
(D) 326 BC

(E) Not attempted

3"

CG - CG23

48. Ifc J[5=3.88%, @ \Ewnﬂ'ﬂm
|
(A) 5.60

_AC) 1.2933
(E) JTsRnfEa

49. 4 D = 4 3 COVER = 63,

BISDS IS
BASIS = 7
&1 MK

LAAY 50
(C) S5

(E) TSR

50. Fifewr T 3 TeEhr R e gham < 9
gty e e
\4X) 1805
(B) 1810
(C) 1815
(D) 1800
(E) 3Toramferd

51. & & 91y Faied uerd H e
FEeTa 2 |
(4) = wgE
(AB) STt S
(C) TR g
(D) &t e
(E) IRt
52. N ST H & &3 ?
L4A) 323 BC
(B) 322 BC
(C) 289 BC  »

(D) 326 BC =
(E) 3T

(B) 7.80
(D) 13.97

(B) 54
(D) 49
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54.

55.

56.

S7.

" (B) Kisan fair
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The most widespread form of

adv'e TUSIng and is the favourite of the
Indian rural maggeg

(A) Magic shows

(B) Wall painting

(C) Folk media

(D) None of the above
(E) Not attempted

In Haryana, this famous fair of
Karnal is held on every September
(A) Gopal Mochan fair

(C) Gangor fair
(D) Mango fair
(E) Not attempted

Find the average of all prime numbers
between 30 and 50.

(A) 49.8 (B) 39.8

(C) 38.8 (D) 59.8

(E) Not attempted

Which of the following is the fastest
memory in the memory hierarchy ?
(A) Primary memory
(B) Secondary memory
(C) Cache memory

(D) Tertiary memory
(E) Not attempted

i ing Capacity in a
rural rnarll‘:setﬂ:ll‘;: ?:I(-)r;l?gf Living alw.ays
depends upon their W&y of lfa;f:nags.
So, the Income levels arc unrelia ,th
mo’st of them are depended uplozomz
seasons and agriculture So the In

levels cannot be a fixed 07¢
() Lifestyle nd
(B) Socio-Cultural Backgro¥
(C) Economy

(D) All the above

(E) Not attempted

CG - CG23

53. a9 1 G99 SAUF FY 377 YHG H
THIOT STAT T THIET B ‘
(A) TG 1 T '
Vps)ﬁrﬁf%a
() = Hifem
i (D) IR H A FE
[E:4E= (E)mﬁﬁ

54. BREON § FET H I Tfg Fer gl
fore # e @
(A) YT HieF Hell #
) T
W(tg) M Hef 4
(E) STwamtea

30 & 50 % ofta 1 qeft TS HEA[IA] , o
%1 3ftgd T 2 ﬁqiﬁ&
(A) 49.8
(C) 38.8
(E) TSR
frefefad § & $-dt 9Hd TEEFET |
el I A 2 7

55.

—

(B) 39.8 "

(D) 59.8 79«

56.

_ gpfo SR F ITH & 2|
e -TTq 1 hIHd Hed ST I IS F
Al Wl et 8| 3 'R sfavas
3 wiifs 4 e HET SN B T Pl
2| ara: 3y &R Rivea 78 & w1 2|

57.

B
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59.

60.

61.

Which among the following districts
of Haryana is not drained by Yamuna

" river ?

-

(A) Hisar (B) Panipat
(C) Yamuna Nagar (D) Sonipat
(E) Not attempted

A and B together can complete a piece of
work in 4 days, if A alone can complete
the same work in12 days. How many

days can B alone complete that work ?

(A) 7 days (B) 6 days
(C) S days (D) 8 days
(E) Not attempted

Which of the following diagram
correctly represents Elephants,
Wolves, Animals ?

(E) Not attempted

What value will replace the question
mark in the following equation ?

1 .1 1 2
e —=13—=
42+36+?+23 5

1 32
@) 3 B) 33

3

< D) None of these
(€ 133, (D)

(E) Not attempted

59.

-14-

60.

) T (B) THITA

(© FEWFR (D) WA

(E) A5
Aﬁtswmﬁmaﬁ“%ﬁ,ﬁ,w
%laﬁAms@ﬁwaﬁmﬁffﬁW
a2, A B ol 3w ) e
fi & C THAT B 7 giivi o
A) 7 T Lerefm 55
) s (D) 8 e

(E) AT

frferfaa 3 & @-a1 o weft, e,

STt ) gd ale A @ ?

1

4—+ 2
2

31+?+21=13
6 3

i) 32
(D) ¥ & ¥ 7

1
®) 37

3
13—
(€ 1375

(E) JTvamiéa
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62. ThiS.SPOI'tS Person from Haryana was
n(?ml.nated for the Dronacharya Award
(Llfetl.me Category) in recognition of his
contribution tq the sport of wrestling
in 2022
(A) Raj Singh Chhikkara
(B) Ravi Kumar Dahiya
(C) Vinod Kumar Dahiya
(D) Vijendra Kumar
(E) Not attempted

63. What is Solar Eclipse ?

(A) When Earth comes in between
Moon and Sun

(B) When Sun comes in between
Earth and Moon

(C) When Sun Rays do not reach Earth

(D) When the Moon comes in between
Earth and Sun

(E) Not attempted

64. India is the largest Country in
the World (in terms of area). -
(A) 7 (B) 9
€) 5 (D) 8

(E) Not attempted

65. Battle of Karnal was fought between
and Muhammad Shah of

Mughal empire.

(A) Lord Warning ,

(B) Nadir Shah -E'?.QE_?

(C) Sadashiv Rao Bhat e

(D) Siraj-ud-daula

(E) Not attempted
66. NDC full form is

(A) National Defe

3t
(B) National Directo™ goﬁ:ge
() National Directo™ =°

C

"q‘.
g

g
o

-

5 Y0 s

65. FECIWIE

e
(D) Nationpl Defence Colleg
(E) Not attempted

-15-
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62. TRAMT % 39 Raemdt #2022 # Fw
% Wel | I ANTSH Bg G 3fars
¢ (% A heR) Bg ifda foam T o

(8) T fére foapm
B) T e e
(D) Toriz Fm
(E) JTvara
63. PR AR ?
(A) ST wgAT 3R gF " gt 3 9
(B) & et 3 S5w & oft9 g an =g

(AD) o gt 3R g & e S oen S
(E) 3rrnfer

B v R A A

. 64. YT fava 1 T (Y% 5

e #) g I
7 (B) 9
(D) 8 '
o (E) -
% TgIE YITE s <7sl T |
(A) e I
\_B) FTieT 8
(C) TEIlE TE WIS
(D) Rre-3g-gen
(E) 3T
66. NDC @1 foreqa &9 2
AA] Avrere fetha i
(B) e sl Hw
(C) et SRRl Wit
(D) e f¥%H e
(E) Jrwnfda

B
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e § & e % form
67. Pehowa mela is held in which among | 67. tﬂ@ﬂTﬁ’@T 3
the following district of Haryana ? ot A e
33 (&) Kurukshetra ﬂ F: %\ ] A &) @'{7@3
(B) Karnal 3‘9 +H (B) ST
/Sx
719 (C) Panipat R L 33453 . (C) qrHIgd
» 6,9~ 7 . %}3 A (D) R
|| 2% == (D) Sirsa /%sj’ "
| . =
! ’% i (E) Not attempted Ei-%:; (E) AR
! gftfe w1 ASE
| 68. Who was the Chairman of Steering 68. GfauT @l HEEH Eal
7 ),M 3° Committee of Constituent Assembly ? T 91 ?
] /4,17 (&) Sardar Vallabhbai Patel (A) TG TeeHETS Tt
B (B) K. M. Munshi kB B) ¥. w. 5=
1. 33-3 =22 () Dr. B. R. Ambedkar () =1, . I, TR
i edh E‘t’él Ja(D ) Dr. Rajendra Prasad @ IR [/(DT 21, Toig J4G
J}? (E) Not attempted (E) AU

69. Hﬁﬁzaﬁﬁma@m‘thﬁﬂmaﬁ
=L 3 3% fawrsa §) 12, B8

69. Find the sum of all 2 digit number

| :*’5/13‘67(

i 12 15,18,-- qZ1v1$1ble by 3. o 157 A1
| 0" 12, 51, 18,21,....., 99. ,,} xs“ 7 12, 51, 18, 21,....., %
A ® (A) 1678 (B) 1458 ~. 5 (A) 1678 (B) 1458 "
o (C) 1669 (D) 1665 )3:303 (C) 1669 (D) 1665
;‘y1$7<3 (E) Not attempted g_g,)(sol e # (E) ITomiia
! ‘tMX 4y 70. A worker may cla1m Rs. 15 for each km | 70. Q'#?Aiﬁﬁiﬂﬁ ool B AT HH 'qt g e
433 %y which he travels by taxi and Rs. S for 15 %. 3 I FR T IE T
| ﬁ( f@ each km which he drives his own car. SE & = % wﬁ mgﬁﬁ,;ﬂ
”; Y If in one week he claimed Rs. 500 for SR | 3 T FaE H
‘ . travelling 80 km, how many kms he S SOWWEF@%%QF\ 500 <Al ¢
33/, travels by Taxi ? Torm o 3m eedt g bt T < 2
‘:3‘; (A) 20 km g+ 16d e (A) 20 fordt 21; i ic
Wi :,5 .,v;':- . o 0}‘5
_@ (B) 30 km 3 JSI;‘;JZJ hEek (B) 30 feprt o goo
‘ (C) 10 km 37 \_Ie) 10 fFt }W\
-—
(2%,% (D) 40 km 73 . o) sofmht  F W
(E) Not attempted /53 (E) SR Be-
5 8 | .
‘__.;‘/ "16-
1665
__/
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71. Which among the following is the highest
award of Haryana State Govt. for the
outstanding Players of Haryana ?

(A) Bhim Awarq :
(B) Rani Laxmj Bga; Award

(C) Guru Vashisht Award

(D) Maharana Pratap Award
(E) Not attempted

72. In the mesosphere, the temperature will
(A) Decrease at first and then increase
(B) Decrease
(C) Stay the same as in the Stratosphere
(D) Increase |
(E) Not attempted

73. A deep narrow valley with steep sides
is called a
(A) Gorge
(B) Delta
(C) V-shaped valley
(D) All the above
(E) Not attempted EH

74. In each of the following, find the
figure from the answer set which
will continue the series given in the
problem set.

1 2 3 4 5

-— i
@A) [—= B) | =—

—

preseasm: —_—

e —
©) |=—= D)=

— e

(E) Not attempted

-17-
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71. ERAVT % Ik Raented &g siamn 7=
TR AR § Far JEaR feforad
YAPA-TE 7

gy i e
(B) T+ weHt a8 31T
(C) T& TR 3aTE
(D) WERIVM JaTq 37T
(E) TSRTRIG

72. WLAHSH ®, AIUHH
(A) Eer = Tt s

(B) S

(C) V-3THR 6t =it
(D) 31 auft

(E) 39T

74. fr=fafga & @ v sag=w 4 @~
3feu St v wg= € § T gEen S
STt T B |

- :

&) |== 2] N B ez

e —

(AC) [—= D] f——
(E) 3T
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76.

77.

78.

79.
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Which of the following numbers
divisible by 3 ?

(A) 5967013

(C) 541326

(E) Not attempted

(B) 1111
(D) None of these

In March 2023, Haryana became first
State in India to achieve 100%
(A) Adult education

(B) Electrified railway network
(C) Solar installation

(D) Rural electrification

(E) Not attempted (=}

What is the reason behind red soil
developing a reddish colour ?

(A) The presence of potash and magnesia
(B) Due to the presence of iron

(C) Over Grazing

(D) None of these

(E) Not attempted

Which error detection code uses a
single parity bit to detect errors ?

(A) Hamming code

(B) Parity check

(C) Cyclical Redundancy Check (CRC)
(D) All of the above

(E) Not attempted

An aeroplane flies along the four
sides of a square at the speeds of
200, 400, 600 and 800 km/hr.
Find the average speed of the plane
around the field.

(A) 384 km/hr
(C) 564 km/hr
(E) Not attempted

(B) 444 km/hr
(D) 765 km/hr

CG - CG23

75. e i & FA-H FET 3P fwa R ?

() 5967013 * (B} 11117
i 541326 (D) FHARRT
(E) I
6. T 2023 i, ERATN < H 100%
T A et ggen U9 <41
(A) IFEh A&l
- (B) T e Feh -
(C) TR e
\/rf)wﬁwﬁ@?ﬁw'
(E) 3TrTiHa

77, T e % I T % B HT R Y
() trer 3t A < ufeld
\_4B) wirg @ ufeufd

78. FH-81 W fEE He T I Al A
¥ foru i AR fore 1 S AT R ?
() 2fm %
UiB) BiE 9
(C) Trfrema EER v (HiemE)
(D) 3w asft
(E) rRnfaa

79. T Tl WM 200, 400, 600 3N
800 km/hr it 7oA ¥ w1t il =AW
YIS % WI-T1 ST & | &F & T}

S M g e 3 i T
=@
AA) 384 km/hr  (B) 444 km/hr

(C) 564 km/hr
(B) 3t

(D) 765 km/hr

-18-
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82.
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district of Haryang
(A) Peacock throne
(B) Raaj Mahg

(C) Rang Mahg]
(D) Red fort

(E) Not attempteq

Classification of Rura] Markets is
(A) Industrial Market

(B) Services Market

(C) Consumer Market

(D) All the above

(E) Not attempted

In each of the following find the
figure from the answer set which
will continue the series given in the

problem set.

LiL 5

1 2. " 3 4 5
(4) L‘
(B) L okl

C | —=

o|

(E) Not attempted

19

CG - CG23

80. o 1 B Tilg W el g

82. frm=feifga # & T S ag= # 4 fu=
Gleu St guen = o <€ 5 g S
T T |

e

1 2 3 4 S

(A) T—’ :
(B I—‘

O] — x
(D) 2f
(E) STrnfa
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83. Where is the Niagara river found ?
(A) India
(B) Australia Bl
(C) North-America '
(D) Japan
(E) Not attempted

84. Rewari Railway Heritage Museum
of Haryana had world’s oldest still
functional steam locomotive known as

(A) Himalayan Queen

(B) Fairy Queen

(C) Iron Lady

(D) Shimla Kalka Express

(E) Not attempted

85. Who was the Chairman of Drafting
Committee of Constituent Assembly ?

(A) Sardar Vallabhbai Patel
(B) K. M. Munshi

(C) Dr. B. R. Ambedkar

(D) Dr. Rajendra Prasad
(E) Not attempted

86. Complete the following Analogy.
Vitamin A : Retinol :: Vitamin C: ______

(A) Calciterol

(B) Niacin

(C) Tocopherol

(D) Ascorbic acid

(E) Not attempted

CG - CG23

g83. AT ¢ FEl & 7
(A) W@

(B) Iregferan
L/(Q) W—m

84, TR 3 T o vl wnEerd #

85. - Gfeur 9T h ey aiufd 1 Ty

-20-
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87. Nabh Chhor is the leading evening 87. =¥ =R, BREmn % et @
newspaper published from TR 3proft 9& gUERaA 8 |
district of Haryana. i Ll ?
(A) Palwal (8] S
(B) Hisar Vﬂg) fedr
(C) Sonipat (C) |HflTa - ~
£
(D) Rohtak (D) Tgdeh
(E) Not attempted (E) 3TSEmiEa
88. A sum of Rs. 800 amounts to Rs. 920 | 88. %. 800 i s U 3 a¢ # AIamy =1
?n 3 years at simple interest. If the W&, 920 & Al 2 | Ife = W 3%
interest rate is increased by 3%, it se Wt 2, A zadh U fra Bl 2
would amount to how much ? yl X1
1545 =
(A) 995 (B) 997 o (1335 (B) 397 z:;' )
(C) 998 (D) 992 EE - (C) 998 BT 992 il
(E) Not attempted (E) 3TSféa
89. Complete the following Analogy. 89. TmfeTRad Hwwar quf Hiferg |
Ayurveda : Medicine :: Dhanurveda : TS ¢ 3y o g4
e KL
0) M o) s
(B) Acting
(C) Archery LAC) 3
(D) None of the above (D) 39U H § i3 T
(E) Not attempted (E) TSRy
90. is the most important and 90. __ waiftss gyl iR g8g St R,
widespread category, :}: Coveﬁrj 43% rt%f T I 40% -8 30T 81 qfewh
the land area. In fact the entiré Northern h T
plains are made up of these soils. Kl AT il qaq 3 2|
(A) Red soil i SR
(B) Laterite soil (B) EIéEISZ kil
(©) Alluvial soil (AC) Sreg
(D) Black soil (D) reft 3T
(E) Not attempted () srnfira
-21- B
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: 2=t W
English Language i
91. How many tense are there in English 26. < : ferepm
Grammar ? :
(A) 2 BT 3 A T
() 8 (D) 4 (B) a_' ol
(E) Not attempted (@) LEIE]
(D)
92. Complete the following Analogy- E)
Before : After :: Enjoy : ———
(A) Sad 97. 4,9, % o, | 37fe HT IS I
(B) Happy AK) &
LI€) Suffer (B) q?j;l]
) Faif gy (C) TS
(E) Not attempted rg‘_'f‘:l} (D) AT
93. How many types of nouns are there (E) il
in English ?
o fo '(I;) gghs grammj;) 4 o8, ‘@A feredhl T & 7
(e o (€) 2 D) 5 () T
; (E) Not attempted V(B) It '@ER;I
(C) 3TH
24. I(_L‘Iompll;e‘zt;ltlze f;llowing Analogy. (D) TRTEEas
en : Pullet :: Kangaroo :
(A) Calf (E) Irs=féd
(B) Fup 99, Rd & a=m % b WE R 7
o @) 3 ®) 4
(E) Not attempted L) 2 (D) 1
(E) 3rrRfd
05. The past participle form of th
Drii?s PATHCRS P9 Shayerd = ] 100, mwmﬁﬁ,““m 7
(A) Drew e 3% gees 3 w9 3 g R
(B) Draw B \_+4) a¥ 1903
(C) Drawing s (B) =¥ 1906
Drawn (C) =¥ 1909
(E) Not attempted (D) a¥ 1900
| (E) 3rsentya
—_—
B H
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